
USE ONLY FOR TEMPORARY BRIDGES

WASHINGTON STATE DEPARTMENT OF TRANSPORTATION

OLYMPIA, WASHINGTON

STANDARD PLAN E-2

APPROVED FOR PUBLICATION

DATE

SHEET 1 OF 2 SHEETS

STATE DESIGN ENGINEER

PILE OR FRAME

DETOUR BRIDGE WITH

ASPHALT OVERLAY

ST
AT

EOFWASHINGTON

REGISTERED

P
R
O
FESSIONAL ENGI

N
E
E
R

10536

EXPIRES JANUARY 17, 1999

M.

MYINTLWIN

DECK FRAMING PLAN - SINGLE LANE

ELEVATION - PILE TRESTLE

DECK FRAMING PLAN - TWO LANE

6’-8" 6’-8"

L

HALF SECTION-PILE BENT HALF SECTION-FRAME BENT

TYPICAL SECTION-SINGLE LANE BRIDGE

HALF SECTION-FRAME BENTHALF SECTION-PILE BENT

TYPICAL SECTION-TWO LANE BRIDGE

A

A

A

A

L

1
3

 1
/2

 "

Distribution plate

Base plate

1
1

 1
/2

 "

12’-0"

22’-0"

See Note 7

ACP overlay (see Note 8)

ACP overlay (see Note 8)

H  H

See

Note 7

H

C Roadway

and bent

H

Service Level 1 Bridge Rail

ELEVATION - FRAME TRESTLE

Deck plate

4x16 Solid bridging over

all caps and mid panel points

4x12 S1S

Plank deck

4x16 Solid bridging

4x12 S1S

plank deck

3x8

3
x
8

8x8

Filler

3x8

3x8

3x8

8x8

Filler

3x8 3x8

Two - 3x8

3x8

3x8

 1/2 " DIAx5"

Lag bolts

4x12 S1S Plank deck

4x12 Blockout

10x12x14’-0" Cap S1E

3
x
8
 R

o
u
g
h

3
x
8
 R

o
u
g
h

10x10 Sill

1
0

x
1

0
 P

o
s
t
s

10x10 Blocking

4x12 S1S Plank deck

4x12 Blockout

12x14x24’-0" Cap S1E

3x8 R
ough

3x8 Rough

1
2

x
1

2
 P

o
s
t
s

12x12 Blocking

B
u

l
k

h
e
a
d

 
-
 
t
h

r
e
e

p
i
e
c
e
s
 
2
x
1
2
x
1
6
’
-
0
"

4x12 Blockout (TYP)

4x12 Blockout (TYP)

B
u

l
k

h
e
a
d

 
-
 
t
h

r
e
e

p
i
e
c
e
s
 
2
x
1
2
x
2
6
’
-
0
"

C Thrie beam

 3/4 "x22" Drift bolts (TYP)

4x16x3’-0" splices

Spans 15’ or 17’

17’ span shown

2x6 Outside stringer to

outside stringer; fasten

each stringer with

 3/8 "x6" lag screw

4x16x3’-0" Splices

 3/4 "x22" Drift bolts (TYP) 2x6 Outside stringer to

outside stringer; fasten

each stringer with

 3/8 "x6" lag screw

17’ span shown

On pile trestles, when H

exceeds 10’but is less than

20’longitudinal braces shall be

placed on outside piles on both sides of

trestle in every third panel or as required by local

conditions. When H exceeds 20’two-story bracing shall

be used. Longitudinal struts and cross braces shall be

fastened at each end with  3/4 " DIA bolts and malleable washers. 

 3/4 "x12" Dowels

O
n
 
p
i
l
e
 
t
r
e
s
t
l
e
 
b
e
n
t
s
 
w

h
e
r
e
 
H

 
e
x
c
e
e
d
s

1
5
’
,
 
o
u
t
s
i
d
e
 
p
i
l
e
s
 
s
h
a
l
l
 
b
e
 
b
a
t
t
e
r
e
d

2
"
 
p

e
r
 
f
o

o
t
.
 
 
W

h
e
n

 
H

 
i
s
 
l
e
s
s
 
t
h

a
n

1
0
’
,
 
s
w

a
y
 
b
r
a
c
e
s
 
m

a
y
 
b
e
 
o
m

i
t
t
e
d
.

 1/2 "x8"

Boat spikes at

intermediate

points on sway

braces

5’-6"

 3
/
4
 "

 D
I
A

 B
o
l
t
 w

i
t
h
 m

a
l
l
e
a
b
l
e
 w

a
s
h
e
r
s

a
t
 
e
a
c
h

 
e
n

d
 
o

f
 
s
w

a
y

 
b

r
a
c
e
s
.

O
n

 
f
r
a
m

e
 
t
r
e
s
t
l
e
 
b

e
n

t
s
 
w

h
e
r
e
 
H

 
e
x

c
e
e
d

s
 
1

2
’
,

o
u

t
s
i
d

e
 
p

o
s
t
s
 
s
h

a
l
l
 
b

e
 
b

a
t
t
e
r
e
d

 
2

"
 
p

e
r
 
f
o

o
t

S
w

a
y

 
b

r
a
c
i
n

g
 
s
h

a
l
l
 
b

e
 
p

l
a
c
e
d

 
o

n
 
a
l
l
 
f
r
a
m

e
 
b

e
n

t
s
.

 3/8 " DIA x1"

Bolt with 1 3/4 "

square washer

1
’
-
1

0
" 1" DIA bolts

3"x3"x1/2" Bearing plate

 1/2 "x7" Bolt (rail

element to rest on

bolt head)

O
n

 
p

i
l
e
 
t
r
e
s
t
l
e
 
b

e
n

t
s
 
w

h
e
r
e
 
H

e
x
c
e
e
d
s
 
2
0
’
,
 
o
u
t
s
i
d
e
 
p
i
l
e
s
 
s
h
a
l
l
 
b
e

b
a
t
t
e
r
e
d

 
2

"
 
p

e
r
 
f
o

o
t
.
 
 
W

h
e
n

 
H

 
i
s
 
l
e
s
s

t
h
a
n
 
1
0
’
,
 
s
w

a
y
 
b
r
a
c
e
s
 
m

a
y
 
b
e
 
o
m

i
t
t
e
d
.

3’-4" 3’-4"

 3
/
4
 "

 B
o
l
t
 w

i
t
h
 m

a
l
l
e
a
b
l
e
 w

a
s
h
e
r
s

a
t
 
e
a
c
h
 
e
n
d
 
o
f
 
s
w

a
y
 
b
r
a
c
e
s
.

O
n
 
f
r
a
m

e
 
t
r
e
s
t
l
e
 
b
e
n
t
s
 
w

h
e
r
e
 
H

 
e
x
c
e
e
d
s
 
2
0
’
,

o
u
t
s
i
d
e
 
p
o
s
t
s
 
s
h
a
l
l
 
b
e
 
b
a
t
t
e
r
e
d
 
2
"
 
p
e
r
 
f
o
o
t
.

S
w

a
y
 
b
r
a
c
i
n
g
 
s
h
a
l
l
 
b
e
 
p
l
a
c
e
d
 
o
n
 
a
l
l
 
f
r
a
m

e
 
b
e
n
t
s
.

 5/8 " DIA x1 1/2 " Bolt with

square washer

TS 3"x6"x1/4"

Steel post

Spans 15’ or 17’

On frame trestles, longitudinal

bracing shall be placed on outside

posts on both sides of trestle in

alternate panels or as required by local

conditions.  When H exceeds 20’, two-story

bracing shall be placed.  Longitudinal struts and

cross braces shall be fastened at each end with  3/4 " DIA

bolts and malleable washers.

 3/4 "x16"

Drift bolts

5’-6"

 3/4 "x7 1/2 " rod

with lockwasher

 3/4 "x12" Dowel  3/4 "x18"

Drift bolts

N
O

T
E

: 
  

 T
H

IS
 P

L
A

N
 I

S
 N

O
T

 A
 L

E
G

A
L

 E
N

G
IN

E
E

R
IN

G
 D

O
C

U
M

E
N

T
 

B
U

T
 A

N
 E

L
E

C
T

R
O

N
IC

 D
U

P
L

IC
A

T
E

. 
 T

H
E

 O
R

IG
IN

A
L

, 
S

IG
N

E
D

 B
Y

 

T
H

E
 E

N
G

IN
E

E
R

 A
N

D
 A

P
P

R
O

V
E

D
 F

O
R

 P
U

B
L

IC
A

T
IO

N
, 
IS

 K
E

P
T

 O
N

 

F
IL

E
 A

T
 T

H
E

 W
A

S
H

IN
G

T
O

N
 S

T
A

T
E

 D
E

P
A

R
T

M
E

N
T

 O
F

 T
R

A
N

S
-

P
O

R
T

A
T

IO
N

. 
  

A
 C

O
P

Y
 M

A
Y

 B
E

 O
B

T
A

IN
E

D
 U

P
O

N
 R

E
Q

U
E

S
T

.

Brian Ziegler 05-29-98



USE ONLY FOR TEMPORARY BRIDGES

WASHINGTON STATE DEPARTMENT OF TRANSPORTATION

OLYMPIA, WASHINGTON

STANDARD PLAN E-2

APPROVED FOR PUBLICATION

DATE

SHEET 2 OF 2 SHEETS

STATE DESIGN ENGINEER

PILE OR FRAME

DETOUR BRIDGE WITH

ASPHALT OVERLAY

ST
AT

EOFWASHINGTON

REGISTERED

P
R
O
FESSIONAL ENGI

N
E
E
R

10536

EXPIRES JANUARY 17, 1999

M.

MYINTLWIN

7 1/2 "

4 1/2 "

2
"

2
"

1
"

2
"

5 1/2 "

 3
/4

 "

 1
/2

 "

C Post C Post
L L

SECTION A-A

B B

DISTRIBUTION PLATE DETAIL

BACKING PLATE DETAIL

BASE PLATE DETAILL

Distribution plate

Base plate

2"2"

4
 1

/2
 "

TYP

Post

C

ACP overlay

(see Note 8)

SECTION B-B

Deck plate shall be

beveled as required at

face of distribution plate

4x12 S1S

Plank deck

4x12

Blockout

(TYP)

Beam Guardrail Type 10

(Thrie Beam)

 3/4 " Bolts with

malleable

washers (TYP)

1" DIA bolt with

lock washer (TYP)

4
"

4
"

16’-8" Span, use 4’-2"

15’-0" Span, use 3’-9"

1’-0"

(TYP)

4x16x3’-0"

Stringer splice

4’-2"

3’-9"

 1/2 "x3"x3" Bearing

plate with 1" DIA hole

 1/2 "x5" Lag bolt (TYP)

 5/8 " Steel deck plate

4 x "varies", treated timber

paving bulkhead (fasten to

timber deck with  5/8 " DIA

lag bolts at 2’-0" centers)

TS 3"x6"x 1/4 " Steel post

7
 1

/2
 "

TS 3"x6"x 1/4 " Steel post (TYP)

1
’
-
6
"
 
D

e
c
k
 
p
l
a
t
e

1
 1

/2
 "

7
"

5
"

4" 4"

1’-0"

1 1/4 " DIA Hole (TYP)

 3/8 " Steel plate

1 1/4 " DIA (TYP)

4
"

4
"

1 1/2 "1 1/2 "

1
’
-
0
"

Drill and tap

 3/4 " DIA hole

10 UNC through

1 3/8 " DIA Hole

(two places)

Drill and tap

 3/4 " DIA hole

16 UNC through

8"

4"

1" Steel plate

5
" 7

"

1
 1

/4
 "

1 1/4 "1 1/4 "

 9/16 " DIA Hole

(two places)

1 1/2 "
 3/8 " Steel plate

9
"

1
’
-
0
" 1/2 " R

2
 1

/2
 "

3 1/4 "
1 1/2 "

2 1/2 "
1 1/2 "

3 1/4 "

1’-0"

1 3/8 " DIA Hole

(two places)

NOTES

 

1.  Dimensions and notations for superstructure are typical for both single lane and two lane bridges.

 

2.  All timber and lumber shall be #2 or better and untreated Douglas fir-larch.

 

3.  All piling shall be untreated Douglas fir and shall be driven to develop a minimum load bearing

    capacity of 15 tons.

 

4.  Blocking for frame bents shall be proportioned to carry a minimum load of 15 tons per post.

 

5.  All hardware shall be black, ungalvanized.

 

6.  Each deck plank shall be nailed to each stringer with two 7" spikes, number 1 or larger.

 

7.  On 17’spans, stringers shall be 6x16 S1E.  On 15’ spans, stringers shall be 5x16 S1E.

    Two-lane bridges shall use thirteen lines of stringers, one-lane bridges shall use seven lines of stringers.

 

8.  Overlay thickness must be sufficient to cover bolts.

 3/4 " DIA x7 1/2 " bolt

AASHTO M 164

1 1/4 " DIA x8" Rod

with lockwasher

threaded 2" (TYP)

N
O

T
E

: 
  

 T
H

IS
 P

L
A

N
 I

S
 N

O
T

 A
 L

E
G

A
L

 E
N

G
IN

E
E

R
IN

G
 D

O
C

U
M

E
N

T
 

B
U

T
 A

N
 E

L
E

C
T

R
O

N
IC

 D
U

P
L

IC
A

T
E

. 
 T

H
E

 O
R

IG
IN

A
L

, 
S

IG
N

E
D

 B
Y

 

T
H

E
 E

N
G

IN
E

E
R

 A
N

D
 A

P
P

R
O

V
E

D
 F

O
R

 P
U

B
L

IC
A

T
IO

N
, 
IS

 K
E

P
T

 O
N

 

F
IL

E
 A

T
 T

H
E

 W
A

S
H

IN
G

T
O

N
 S

T
A

T
E

 D
E

P
A

R
T

M
E

N
T

 O
F

 T
R

A
N

S
-

P
O

R
T

A
T

IO
N

. 
  

A
 C

O
P

Y
 M

A
Y

 B
E

 O
B

T
A

IN
E

D
 U

P
O

N
 R

E
Q

U
E

S
T

.

Brian Ziegler 05-29-98


